This document is the property of Comfort System Scandinavia Aktiebolag and may
not be copied without our written permission, and the contents thereof must not

be imparted toa third party nor be used for any unauthorized purpose.

o

| ! 3 4 | ! 5 6 7 8
A
B
Nr. | Artikel Nr. Bendmning Antal
1 Ar202422  |Gasficder Block-o-Lift 1
2 AA208021 |[SlGppsystem 1
3 | CS400600 |Hurts med lddor och handtag kpl 1
1 4 | AA208044 |[Blindnitsmutter HUPO 55 St&l M8 4
5 CS400800 |Bordsskiva utdrag 1
6 | AA208095 |Skruv MRT-GF M5x16 Fzb 2
7 | AA201249 |Andavslut 40x40 1,5-3 Vit 2
8 CS400900 |Frontskiva 1
C 9 | AA201250 |Glidkuts 16
10 | AA208009 |Skruv MCéS M8x40 1
11 | AA202216 |Kupolmutter M8 1
12 | AA208020 |DistansL19 1
13 | AA208005 |[Mobelknapp MPS M8 2
| 14 | AA208006 |Pinnskruv PSH M8x35 1
15 | AA208016 |Systemskruv SYFX 6,2x9 fzb 16
16 | AA208018 |Blindnit @4x8 8
17 | AA202219 |Bricka SRKB @12,5x28x2 fzb 4
18 | AA208027 |Filtfrondel Halv 2
D 19 | AA208035 |Gé&ngad Tapp 4
20 | AA208022 |Dubbelhjul @65 m Broms 4
21 CS400400 [Hurtsprofil 1
22 | AA208042 |Teleskopskena Detent Open 2
23 | CS400010 |SlGppspak 1
T 24 | CS400200 |Overram sangbord lackad 1
25 | CS400100 |Underrede med skohylla lackad 1
26 | CS400700 |Bordsskiva 1
27 | CS400702 |List bordsskiva 2
E 28 | CS400300H |Utdragsvinklar bordsskiva Hoger 1
29 | CS400300H |Utdragsvinklar bordsskiva Hoger 1
% F Titel / Bendmning
e EEe Qlassic Sangbord
5 - www.comfortsystem.se
ComfortSystem fsgeyss -
o
CS40 1(2)
O




—_
N
-~
s AN
Q -
© AN |
>
Q
4
o
c
~ ".Cm ~
m (=
()] 4
g 8 )]
f=4
o |0
X =
1 - T I
£ =
[ <
]
£
© 2 g8 e
g gi8s
T ye Ns
3TE B2
EEERt
Sxa2 2%
2R3%s pF
1 ) I
S
o
770 W
o, =
w_; /) o
=y
w o w
o Qo
o
o
<
< <
™ ™
N N
< oM O o (] [T
'PaNes0Id 8q |IM UOLUSADHUOD
asodind pazuoyjnoun Aup 10} pasn aq Jou Appd paiy} 0o} pappdwl g
JOU §SNW JOBIBY} SHUSIUOD By} PUD ‘UOIsSILLISd UBJIIM INO JNOYHIM paldod g jou
Apw pup BojogaIY DIADUIPUDDS WaJSAS 1OJWOD Jo Apadoid ayj S| jJuawnoop syl



	Sheet1
	Drawing View2

	Sheet2
	Drawing View9




